Microeconomics 1 — Part A: Individual decision making
Masters M1 IMMAEF & MAEF

TD — Monday, November 20, 2023
Producer Theory
The following exercises should be submitted on Monday, November 20.
Exercise 1. L = 2 is the number of commodities. The firm produces commodity 2 by using com-
modity 1 as an input.

1. The production function is f(z) = a(1 — exp(—kz)) with £ >0, & > 0 and z > 0.

e Determine and draw the production set Y determined by the production function f.

e For every level of output 7, > 0, determine and draw the following set

Y(Yy) :={2 €R: 2> 0 and f(2) = 7>}

e Write the cost minimization problem of this firm.

e Determine the demand of inputs and the cost function of the firm.

2. The production function is f(z) = ay/z with @ > 0 and z > 0, same questions.

3. The production function is f(z) = az? + 8z with a > 0, 8 > 0 and z > 0, same questions.

Exercise 2. L = 3 is the number of commodities. The firm produces commodity 3 by using com-
modities 1 and 2 as inputs. The production function is

f(z1,22) = (21)%(22)? with @ >0, >0, 21 >0 and 25 > 0

with o + 3 < 1. Determine the demand of inputs and the cost function of the firm.



